EAGRAROBREERT — 2 N— ABISH —F

2015547128 (B) 1E1YAE4H

M C2—394# C2 ¥#5%R4mkE (w8 | imEmml - |5 6) o s
[AE£] 1% :110,000"  23%&:2500H”  33#%&:10,000 M 437 :6,000H ~ 53 :3,000H
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
= # 5 | RBEZ 1:27.5 4-4-6-5 |39.4| — 8 482 | PINEE (ERB)
11111 7L77X MR 5’%.0E (=) -2) (I?];EJ PNEEH
A :Fusaichi Pegasus B: 7 INHET A1) H—F VAT —L
oS RHEEC :97. —0—4— X = hEFE (1£8)
2 4| 7T 5 54.0 1(72{:‘)5 SR R ° ‘22)7 FOEN -
LI bTFr—b BT T Eld== I
; s = i 5 | IS 1:27.7 1-1-1-1 | 40.3| — 6 454 | RIEBE (EB)
3lglg|FT7¥H—-F>F 54.0 " -3) (F) J P N
:Aa-I>790> B:E41477L-X FHE
4 5 | ORI 1:27.9 3-3-2-2 |40.3| — 1 481 | FRIIBE (ER)
] gl T Vaw A51.0 (3/4) 42) (F) J P N#Ht
L:vAxNTT B:VIVXx—RT7-—T R B85
SE 4t 4 | KUEEFE 1:28.1 7-7-7-6 | 39.7| — 3 434 | REXE (EH)
5/5/5| 7Y/ 56.0 ) (+1) | EHUBARR
L:Urh—r BTSSRI Exapse]
S s 4 | HAEA 1:28.4 5-5-3-4 | 40.8| — 2 454 | ABE (1£E)
6 2 | L=XNILT 7 L 54.0 (1 1/2) +2) A(IEI) JPﬁHEﬁ
L:Urh—r BRTFANTYvA> FRESS
4 6 | HFEA 1:28.5 8-8-8-7 |39.8| — 7 432 | FHRERPAIE (f£%)
7ie| 7| 7YA 54.0 (7€) ey | BHR
LU Hh—> BTy TI— RFAH
1N # 6 | RER= 1:29.2 6-6-5-8 |41.5| — 4 457 | FRIIBHE (ERS)
EH 3 [/NUNY 56.0 ) 1) (B)_J PN
R:TANRTy Y2 BS—F32 b ZRBT7— L
@ 1—F—@&BIEf
13=zr= 8,4,6,1,2,3,5,7
23—+ — 8,4,6,1,2,3,5,7
Gal=7r= 8,6,2,4,3,1,5,7
43—F— 8,6,4,2,1,5,7,3
[ RN
B OB 1 3,840 714K 1-4 6,960 B = 1-4 11,570M 3ER 1-4-8 28,1504
% B 1 440M 1-8 3,750 | | & B 1-4 62,900/ | | 3:=E 1-4-8 457,170/
4 350M 4-8 1,970
8 340M

ARICOVWTRDTEEERROODE. TR LI,




